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      All 10 points  plotted correctly .
      Smooth curve and passed all 10 correct points .
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(b) (i) K  : rotation   90o anticlockwise by the centre (3,4)

     (ii) J   :enlargement at centre  P or (6,3) and scale factor 2
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(c)

· Uniform scale on the x-axis and on the y – axis
· Mid - points on horizontal axis 

· 8 points plotted corecctly

· points (32,0) and (76,0) plotted correctly
· frequency polygon pass through all 8 points correctly, (32,0) and  (76,0)
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	  SHAPE  \* MERGEFORMAT 



Correct shape with two rectangle IJLK and LKAB.
Dotted line HG.
Correct mesurement 
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Correct shape with  rectangle ABCD and semicircle CD.
Straight line GH and semicircle CD by using compasses.
Correct mesurement 
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 SHAPE  \* MERGEFORMAT 



  Coreect shape with hexagon  AEHILD and a rectangle. 
  The length of the sides must be in correct  proportion
  Correct mesurement 
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